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Question Number : 1 Question Id : 9735971006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The mechanical, electrical and electronic parts of the computer system are called:
Options:

1 « Hardware

> % Software

5 # Operating system

4 % Firmware

Question Number : 1 Question Id : 9735971006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fordlt Fegex Bwea & #AFfaFd, safecea IR Faagi=E SE H Fal T &

Options:
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Question Number : 2 Question Id : 9735971007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The clock rate of a CPU, which can perform 2500 clock cycles per second is:

Options:
, % 2.5Hz

I

o> o 2.5KHz

5 % 2.5MHz

4 % 2.5GHz

Question Number : 2 Question Id : 9735971007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % 25 Hz
., v 25 KHz
- 2.5 MHz

. % 2.5 GHz

Question Number : 3 Question Id : 9735971008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
DPI, a measurement of printer resolution, represents how many ink dots the printer can place in:

Options:
1 « One inch

> % One centimetre
= % One millimetre

4 % One cubic inch

Question Number : 3 Question Id : 9735971008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 9735971009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The full-form of ADSL is:

Options:

. w Asymmetric Data Subscriber Line



- % Asynchronous Digital Subscriber Line

-  Asymmetric Digital Subscriber Line

4, % Asynchronous Data Subscriber Line

Question Number : 4 Question Id : 9735971009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 5 Question Id : 9735971010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The “insert™ key is used to toggle between and modes during data entry?

Options:
, = Insert, Delete

5 « Insert, Overwrite
5 % Delete, Overwrite

4 w Delete, Cancel

Question Number : 5 Question Id : 9735971010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 6 Question Id : 9735971011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the most common type of mouse click to perform an action?

Options:
, « Single click

- % Double click
5 » Iriple click

4 » Left ~Right click

Question Number : 6 Question Id : 9735971011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 9735971012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) The lower the DPI the sharper the image.
1) Input and output devices are also called peripheral devices.

Options:
1 « 1-False II - True

> % 1-True, II-False



2 % I-True, II- True

4 % 1-False II - False

Question Number : 7 Question Id : 9735971012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 8 Question Id : 9735971013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) Von Neumann A) First-generation computer
IT) ENIAC B) Stored program concept
III) IBM-360 C) Third-generation computer
Options:

1 % I-C:II'BfIII-JﬂL
2 ® I-B:II'CTIII-JﬂL
z ¢ I-B,I-AMI-C

. % [-AII-C.II-B

Question Number : 8 Question Id : 9735971013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
w1 -C Il-B, IIl-A
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Question Number : 9 Question Id : 9735971014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The language which is converted into binary codes by assembler is called:

Options:
; % Machine language

o  Assembly language

- » First-generation language

4 » High-level language

Question Number : 9 Question Id : 9735971014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 10 Question Id : 9735971015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following category of software performs the tasks like resource management, process management and
memory management?

Options:

, = Application software

o  System software
5 » Utility software

4 # Firmware

Question Number : 10 Question Id : 9735971015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 11 Question Id : 9735971016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an operating system?

Options:
; % XENIX
5 % 08/2

5 Opera

4 % Windows

Question Number : 11 Question Id : 9735971016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 9735971017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is a time-sharing operating system?
Options:

1 « Unix

> % Windows 7
z % Windows &

4 # Windows 10

Question Number : 12 Question Id : 9735971017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 9735971018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements about SSD is false?

Options:



1 % SSD stands for solid-state drive.
> % SSD is faster than HDD.

-  SSDis cheaper than HDD.

4 % SSD has no moving part.

Question Number : 13 Question Id : 9735971018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 9735971019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The sum of 768 Kilobytes and 1.5 Megabytes is:

Options:
, % 2Megabytes

¢ 2.25 Megabytes

2

s # 2.5 Megabytes

I-J

.75 Megabytes

Question Number : 14 Question Id : 9735971019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 9735971020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to computer boot process, BIOS is an example of:

Options:

, w Mini operating system

- % Micro operating system
3 « Firmware

4 % Trackware

Question Number : 15 Question Id : 9735971020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FTUT IT FIEH F HIY H, BIOS THFT TH 3R ¢

Options:

e B s R
L« ATEE AT faweA
5. v BHII
4% S

Question Number : 16 Question Id : 9735971021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a Class-B IP address?

Options:
1 + 10011101.10111010.01010101.10001111

-~ % 11011011.10101110.01010101.01001111



= % 11011101.11101010.01010101.00101111

4 % 01010101.10101010.01011101.00001111

Question Number : 16 Question Id : 9735971021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1« 10011101.10111010.01010101.10001111

> % 11011011.10101110.01010101.01001111
= % 11011101.11101010.01010101.00101111

4 % 01010101.10101010.01011101.00001111

Question Number : 17 Question Id : 9735971022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is located in the Windows Taskbar and contains miniatwre icons for easy access to system
functions such as fax. printer, etc.?

Options:

, % Recycle Bin

5 of System tray

=z % START button

4 % Windows button

Question Number : 17 Question Id : 9735971022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 18 Question Id : 9735971023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid Windows shutdown option?

Options:
1 «* Freeze

» w Log-off

= % Restart

4 % Sleep

Question Number : 18 Question Id : 9735971023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 19 Question Id : 9735971024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) The system tray is a section of the taskbar in the Windows desktop user interface.
IT) In Windows, pressing Shift+Delete places the item to be deleted in Recycle bin.

Options:
 « 1-True, II-False

o M L False. II - True

3 ® I-True, II - True



4 % 1-False II - False

Question Number : 19 Question Id : 9735971024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 20 Question Id : 9735971025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) BIOS A) Close the current user session only
1) Log-off B) Mainly designed for laptops
IIT)  Hibernate C) Firmware

Options:
. % [-A/II-B,II-C

, w [-C.II-B.II-A

5 v [-C.II-AII-B

. [-B.II-C,III-A

Question Number : 20 Question Id : 9735971025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 21 Question Id : 9735971026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Windows advanced startup options starts Windows in safe mode but includes the network
drivers and services needed to access the Internet?
Options:
1 % Safe mode

» % Safe mode with command prompt

- w Debugging mode

i Safe mode with networking

Question Number : 21 Question Id : 9735971026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 9735971027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Windows 10 was released in:
Options:

1 % 2010

> % 2014

Lh

5 o 201

4 % 2016

Question Number : 22 Question Id : 9735971027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % 2010
. = 2014
2« 2015

L ® 2016

Question Number : 23 Question Id : 9735971028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A strong password should have:
Options:

» Only lower-case letters.

1.
> % Only upper-case letters.

- » DBoth letters and digits but no special characters.

4 A good mix of letters, digits and special characters.

Question Number : 23 Question Id : 9735971028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 9735971029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In asymmetric cryptography. private key is generally used to:
Options:

, w Shorten the message

o o Decrypt the message

5 » Hide (make invisible) the message

4 % Truncate the message

Question Number : 24 Question Id : 9735971029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 25 Question Id : 9735971030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Match the following.

Set-1 Set-2
I) Symmetric cryptography A) Public-key cryptography
II) Asymmetric cryptography B) Encrypted text
IIT) Ciphertext C) Private-key cryptography

Options:
. % I-A/II-B,II-C

, v I-C.II-AII-B
5« [-AII-C.II-B

, % I-B.II-C.II-A

Question Number : 25 Question Id : 9735971030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T &1 &e +:iI
ae-1 qe-2

) TEAREE freeEmdr A) dieereh-hr fehearamdr
) 3TEATEE freeamer B) timrees eoee
1) TEFCFEE C) grgae-Hr hree=mh

Options:

sowd =& H0- B ll-C
sapd =B =AUl - B
s l-ANIl-Cll-B
gunl-B, N-C W -A

Question Number : 26 Question Id : 9735971031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Ciphertext appears to be random and meaningless.
IT) Signature-based intrusion detection techniques are effective for zero-day attacks.

Options:



, « 1-True, II-False
5 % L- False. II - True
3 % I-True, II - True

4 % 1-False II - False

Question Number : 26 Question Id : 9735971031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 9735971032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The full-form of the file extension .EXE is:
Options:

1 « Executable

> % Exercise

5 # Example

4 % Excess

Question Number : 27 Question Id : 9735971032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 9735971033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to Windows file management, the CD command stands for:

Options:
, » Copy Directory

-  Change Directory
- u Copy Disk

4 » Compact Disk

Question Number : 28 Question Id : 9735971033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 29 Question Id : 9735971034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following commands can erase all contents of a disk and initializes the file allocation table?

Options:
, % ERASE



> « FORMAT
s % XCOPY

4 % RMDIR

Question Number : 29 Question Id : 9735971034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, » ERASE
- « FORMAT
5 # XCOPY

4 # BMDIR

Question Number : 30 Question Id : 9735971035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following Windows commands can be used to remove a directory?

Options:
. ® REMOVE
- % ERDIR

s v RMDIR

4 % REMDIR

Question Number : 30 Question Id : 9735971035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

.« REMOVE
. % ERDIR

- « RMDIR



. = REMDIR

Question Number : 31 Question Id : 9735971036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) A file with .EXE extension cannot be moved from one location to other location within a computer.
IT) All files with .EXE extension are dangerous and can harm the computer system.

Options:
; % I-Troe, II- False
o M L False. II - True

3 ® I-True, II - True

4 « 1-False II - False

Question Number : 31 Question Id : 9735971036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 9735971037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) CD A) File
II) XCOPY B) Directory
IIT) COPY C) Both file and directory

Options:



. % [-AII-B,II-C
. » I-B.II-C.II-A
¢ I-C.II-B.II-A

3

4 # I[-B.II-AII-C

Question Number : 32 Question Id : 9735971037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 33 Question Id : 9735971038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Using a computer to create. edit and print documents is termed as:
Options:

, = Word carving

> % Software management

5  Word processing

4 ® Word manufacturing

Question Number : 33 Question Id : 9735971038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 9735971039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the followine can ba used 10 remove a section of 1ext from one place in a document and msert it soamewhere else?
Options:

, % Copy and Paste

> ¢ Cut and Paste

5 » Copy and Print

4 # Cutand Save

Question Number : 34 Question Id : 9735971039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 35 Question Id : 9735971040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word, short-cut key to display Word Count list is:



Options:
1 « Ctrl+ Shift + G

> % Ctrl+ Shift + L
3 % Ctl+ G

4 % Ctrl+L

Question Number : 35 Question Id : 9735971040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TATHE-F H, 2 F3e foee feme #r ae-we F= T

Options:

. v Ctrl + Shift + G
, % Ctrl + Shift + L
2% Ctrl + G

L% Crl + L

Question Number : 36 Question Id : 9735971041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word, function key to choose the “Go To” command is:

Options:
1 ® F1

3. ¢ F5

Question Number : 36 Question Id : 9735971041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TATH-a2 H, “Go To” FHATS Id HT B FHoil g
Options:

1 ® F1

o ® F2



Question Number : 37 Question Id : 9735971042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word. if the font size of a text i1s 18 pt. then it is roughly equivalent to:

Options:
1 « 0.25Inch

> % 0.5 Inch
3 % 0.75 Inch

4 % 1.0Inch

Question Number : 37 Question Id : 9735971042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TATH-35 H, Tfg TFEE FT Biee T= 18 pt @), dF Tg 9T =H/S aeT T &

Options:

. » 0.25 &

, x 058
. % 0.75 &

L% 108

Question Number : 38 Question Id : 9735971043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Format Painter is used to duplicate same formatting at multiple places in a document.
IT) In MS-Word, pressing Ctrl+U makes the selected text underlined.

Options:
1 « 1-Tme, II-True

> % 1-True, II - False



- % I- False. II - True

4 % 1-False II - False

Question Number : 38 Question Id : 9735971043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hed 31 HOc =47 4157
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Options:
Lo -FT, - T
x| - T, Il - 3T
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Question Number : 39 Question Id : 9735971044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following errors occurs when an Excel column is not wide enough to display the values?

Options:
|
> % HVALUE!

= % #NAME?

4 % #REF!

Question Number : 39 Question Id : 9735971044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fefafdm & % 77 & 1t ol ¢ o ooiw wiow & 9 A R s wd a o

Options:

| B
. = #VALUE!

- = H#NAME?



. % HREF!

Question Number : 40 Question Id : 9735971045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The address of the Excel cell at the intersection of 9% row and 30™ column is:
Options:
1 % #AD9

> % AD-9
s % 9AD

4 o AD9

Question Number : 40 Question Id : 9735971045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
OF I 3T 309 FaIH F HAT I TN A T 94T g

Options:

| % HADO

., » AD-9
- = 9AD

. v AD9

Question Number : 41 Question Id : 9735971046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number of cells in the cell range C25:N30 is:
Options:

% L7

2
=z W 60

4 B H6

Question Number : 41 Question Id : 9735971046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 42 Question Id : 9735971047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following categorv of chart displays values relative to 2 center point and can be used when categories are
not directhy comparable?

Options:
1 + Radar chart

> % Bar chart
= # Scatter chart

4, % Doughnut chart

Question Number : 42 Question Id : 9735971047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 43 Question Id : 9735971048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following components of a chart specifies the colour, symbol or pattern used to mark data series?

Options:



| « Legends

> #% Chart title
= % Data labels

4 % Grid lines

Question Number : 43 Question Id : 9735971048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 44 Question Id : 9735971049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel formula =INT(-235.2) is:

Options:
1 o -236

> % =235

Question Number : 44 Question Id : 9735971049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TFHe BEem =INT(-235.2) & A glem:

Options:

| v -236



. % -235
- % 235

L % 236

Question Number : 45 Question Id : 9735971050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel formula =EVEN(-15) is:

Options:
1 ® 16

oo <16
T B 14

4 B -14

Question Number : 45 Question Id : 9735971050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TFHS HHET =EVEN(-15) T AT grem:

Options:

>« -16

g4 --14

Question Number : 46 Question Id : 9735971051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) In MS-Excel. “Svmbol™ button is used to insert characters that are not on your keyboard.
IT) Clip Arts like drawings. movies, and sounds cannot be inserted into Excel sheets.

Options:
1 % I-True, II - True

» % 1-False II - False



- % I- False. II - True

4 ¢ 1-True, II - False

Question Number : 46 Question Id : 9735971051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Vol O HHEcd shild {dEy |
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Options:
% | -Fem, Il -
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Question Number : 47 Question Id : 9735971052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a social networking website developed and operated by Google Inc.?

Options:
1 % Facebook

> o Orkut
5 % Twitter

4 % Chrome

Question Number : 47 Question Id : 9735971052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=T F e 3. e sl R gfera | acafeer Jaase wia 9@ 82

Options:

T

1 ® 2
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Question Number : 48 Question Id : 9735971053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is an example of a search engine.

Options:
1 % Orkut

5 % Opera

5  DBing

, % Internet Explorer

Question Number : 48 Question Id : 9735971053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 49 Question Id : 9735971054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Jumping from one page to another page on the Web is termed as:

Options:

| « Web surfing

- % Web crawling



5 » Downloading

4 # Uploading

Question Number : 49 Question Id : 9735971054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
9§ W T 99 & g 9 W T FA F Hgl A1l ¢

Options:

Question Number : 50 Question Id : 9735971055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a popular microblogging site?

Options:
1 % Yahoo!

- w Google
- » Instagram

4 « Twitter

Question Number : 50 Question Id : 9735971055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T=faf@a # @ #iF O vs AT AsseaeeT s 872

Options:

1 % IUE!
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Question Number : 51 Question Id : 9735971056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) Technically both HTTP and HTTPS are same.
II) HTTP is a Web browser.

Options:
; w I-True, II- False

> % I-False II- True
- % I-True, II- True

4 « - False, II- False

Question Number : 51 Question Id : 9735971056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Hcd 4T HHcO hfd ddist|

) TeRerhr T ¥ TEERMT (HTTP) 3t verididrdioy (HTTPS) asf T & 2
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Options:

x| -@em, Il - 3
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Question Number : 52 Question Id : 9735971057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) Instagram A) Search engine
II) Bing B) Web browser

III) Opera C) Photo-sharing application



Options:
. % I-C,II-B,II-A

. » I-C.II-AII-B
5 % [-B.II-C.II-A

4 % I-B.II-ATI-C

Question Number : 52 Question Id : 9735971057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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READING COMPFREEHEMNSIOM
Section Id : 973597155
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 973597155
Question Shuffling Allowed : Yes



Question Id : 9735971058 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension

Read the following passage and answer the questions based on it.

An important aspect of socializing is ‘small talk’® — informal
conversation about things that are not important but establish your
goodwill towards the other person and allow you to get to know
him/her better. Small talk happens all the time between casual
acquaintances, people travelling together and people you meet in the
course of your work etc.

The difference between socializing and chatting with your friends is
that yvou have known your friends for a long time, and can be open
with them, while small talk is made with people you may not know.,
Therefore, while socializing you have to be careful about the topics
you discuss. Avoid subjects that can give offence and do not ask
probing personal questions about age, salary. or marital status.

Normally the conversation is about the weather, hotels, meals,
entertainment, the news of the day etc. Very often the topics flow from
the conversational contacts. The answers to questions and the
comments that follow can provide a lead to the next topic. When
someone makes small talk with you. do not give only monosyllabic
Yes or No answers. Add an opinion or ask for the other person’s
opinion or feeling.

Another important aspect of small talk is the timing. how long one
should carry on with it. The simple answer is not too long. particularly
in a formal or business situation. One should not wait for the guest to
signal that it is time for work or move on by looking at the watch or
clipping open the file or brief case.

Sub questions

Question Number : 53 Question Id : 9735971059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The purpose of small talk is to ,
Options:
seek information about the other person’s age,
, w salary etc

- % enquire about the other person’s personal life

-  establish good relations with people



, % discuss important matters

Question Number : 54 Question Id : 9735971060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Small talk takes place between:
Options:

1 # Close friends

-  Casual acquaintances
5 % Colleagues

, » DBusiness partners

Question Number : 55 Question Id : 9735971061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To keep small talk going,

Options:

, % one should give yes/no answers

- % let one person do most of the talking

one’s answers and comments should lead to the

5  Dexttopic

4 = one of the speakers should be a passive listener

Question Number : 56 Question Id : 9735971062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When we chat with friends:
Options:
we may discuss even sensitive issues like very
, « Dersonal matters.

- % Wemay be very brief.

we should talk about weather, news and fashions
s ® efc.



4 # Wemay be very formal.

Question Number : 57 Question Id : 9735971063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If small talk lasts too long, then:

Options:
, w Deople become friends.

- % many matters can be sorted out.
-  DPeople start signaling it is time to move on.

, % Dpeople develop intimacy.

Question Id : 9735971058 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 9735971059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 54 Question Id : 9735971060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Options:
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Question Number : 55 Question Id : 9735971061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 56 Question Id : 9735971062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:
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Question Number : 57 Question Id : 9735971063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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CUANTITATIVE APTITULE
Section Id : 973597156
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1



Sub-Section 1d: 973597156
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 9735971064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Evaluate the following expression.

44444 -4 < 10=7
Options:
1 % 111.11

5 o 11T
s % 11.111

4 % 1111

Question Number : 58 Question Id : 9735971064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
ffofa FHmT 1 e w1l
44444 + 4 x 10 = ?

Options:

L% 11111
- 1111.1
s % 11.111

4% 1.111

Question Number : 59 Question Id : 9735971065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If twenty-five percent of three-seventh of twenty-six percent of a number is 136.5, what is the number?

Options:

, % 6.300

o % 5.600

2 % 4800

4 v 4900



Question Number : 59 Question Id : 9735971065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Iy g O=ar & Tedlm 9faed F diF 99 O9 #T I==F 9iged 136.5 &, dF I&ar 4T 87
Options:

, = 6,300

. = 5,600
- = 4,800

. v 4,900

Question Number : 60 Question Id : 9735971066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Value of 2 car depreciates by 20% each year. A7 the end of 2015, its value was T 3,20,000. What was the value of the car
at the end of 20127
Options:

| % ¥5.64,000
» « T6.25,000
2 % <4.50,000

4 & <7.25,000

Question Number : 60 Question Id : 9735971066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fret =% % Few & 9fa 9F 20% 7 yEAsS 2T § 99 2015 % AT H FHST AT T3,20.000 o)
T 2012 F T F TEET T HeT 417

Options:
. % ¥5,64,000
- « $6,25,000

- » ¥4,50,000

, = %7,25,000



Question Number : 61 Question Id : 9735971067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
12 years ago, the age ol A and B were i the ratio of 153 : 13, respectively. 19 years from now the respective tatio of their
ages will be 23 ; 22, What is the sum of their ages at present?
Options:
| % 57 years

> % ddyears
52 years

4 %8 59 years

Question Number : 61 Question Id : 9735971067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
123‘!&@,A3ﬁqszﬁr3ﬂmm§mﬁmr 15 - 13 mm:ﬁma&mﬁaﬁ?ﬁrmgmaﬂmﬁ
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Options:

{ ®» 57 9%

5 % 54 T§
s v 52 W

4 % 59 T

Question Number : 62 Question Id : 9735971068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A shopkesper buye 15 erasers at T S/piece, 15 erasers at ¥ T/piece and 40 erasers at T 8/piece. What will be the average
cost of per piece of eraser Tfor the shopkeeper?

Options:
1 % T6.50
> % T6.95

o W <7.14

Question Number : 62 Question Id : 9735971068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:

. % T6.50
. % T6.95
3 o T7.14

. ® T7.30

Question Number : 63 Question Id : 9735971069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The perimeter of a rectangle is 180 meters and the difference between its length and breadth is 8 meters, What is the
area of the rectangla?

Options:
| % 2116 square meters

5 % 2047 square meters

5 % 2090 square meters

4 o 2009 square meters

Question Number : 63 Question Id : 9735971069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 64 Question Id : 9735971070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the first 18 letters of alphabet series are given in the reverse order and the remaining are in the same order, which
letter will be the 9 letter to the left of 10 latter from the right?

Options:

1 ® G

E_QM

Question Number : 64 Question Id : 9735971070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1%-$G
> % M
z ¢ K

4 % N

Question Number : 65 Question Id : 9735971071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If ‘Engineer’ is called ‘student’, ‘student’ is called ‘school’, ‘school’ is called ‘Teacher’ and ‘Teacher’ is called
‘Person’ then where the student goes to study?

Options:



, w» Engineer
> #% School

«# Teacher

M
%

4 % Person

Question Number : 65 Question Id : 9735971071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
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Options:

% SSNTAIT
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Correct: 1 Wrong: 0

At leaves his howse for office. He walks 4 krnoeast. Then, e bams south and welks 2 km, then tums west and wealks 7
km sraight. After that he walks 1 kb north. Again, he tiens in east direction and walks 3 km to reach office. What is the
distancs batween the house and the office?

Options:
1« lkm

> % 2km
z ® 3km

4 % 4km

Question Number : 66 Question Id : 9735971072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| v 1 frete
5 » 2 foenaAEeT
5 » 3 fenaAET
4 » 4 TrenaET

Question Number : 67 Question Id : 9735971073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Examine the following relationships among members of a family of six persons-A. B. C. D, E and F.

1. The number of males equals that of females.
A and E are sons of F.

ro

D is the mother of two, one boy and one girl.
B 1s the son of A.

There is one married couple in the family at present.

noR W

Which one of the following inferences can be drawn from the above?
Options:
. = A, Band C are all females.

> « A 1s the husband of D.

5 » D is the granddaughter of F.

4 % E andF are children of D.

Question Number : 67 Question Id : 9735971073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 9735971074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If K means +. S means *, Dmeans /and A means-.then 18S12D4K5A6=7

Options:
1 o 53

Question Number : 68 Question Id : 9735971074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
TE KA AT+ SHF AT * DI IAT /MW AF HT -8, ar18S 12 D4K5A6=7
Options:

1 v 53
oo® 43
ST ] 63

4 #® 42

Question Number : 69 Question Id : 9735971075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



A statement followed by fwo conchasions 15 given.

Select a conclusion that tollows trom the statement. azsuming evervthing in the statement to be true,

Statement; Applications of applicants who do not fulfill eligibility criteria and‘or who do not submit applications before
last date will be sumimarily rejected and will not be called for the writtan test.

Conclusion:
. Those who are called for the written test are those who [l eligibility erteria and have submitled their
applications before fast date.
I Written test will be held only after senating of applications,
Options:

, w Only conclusion I follows

> % Only conclusion II follows

% # Either conclusion I or II follows

4 « DBoth conclusion I and II follows

Question Number : 69 Question Id : 9735971075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 70 Question Id : 9735971076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Where is the headquarters of National Aeronautics and Space Administration (NASA) located?

Options:
| « Washington DC

-~ % Oftawa
z ® New York

4 #® Mexico

Question Number : 70 Question Id : 9735971076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 71 Question Id : 9735971077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When did the Goods and Services Tax (GST), in India, came into effect?



Options:
| ¥ Tuly 2017

> % 30™ June 2017
5 = 1% August 2017

4 % 1% June 2017

Question Number : 71 Question Id : 9735971077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

o 1 T 2017
, » 30 S 2017

5 % 1 3°9TET 2017

L« 15 2017

Question Number : 72 Question Id : 9735971078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Who won the Nobel Peace Prize for the year 20167

Options:
1 # Lester Bowles Pearson

Jane Addams

ra
®

= « Juan Manuel Santos

G

Elie Wiesel

o
®

Question Number : 72 Question Id : 9735971078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 73 Question Id : 9735971079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following actresses was declared ‘Best Actress’ in 64" National Film Awards announeed in April 20177
Options:

1 % Zaira Wasim

5 % Kangana Ranaut

= « Surabhi Lakshmi

4, » Priyanka Chopra

Question Number : 73 Question Id : 9735971079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 74 Question Id : 9735971080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following teams won the ICC Champions Trophy 20177

Options:
1 % India



- % SriLanka
= % South Africa

4 « Pakistan

Question Number : 74 Question Id : 9735971080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 9735971081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following is the author of the book ‘The Audacity of Hope®?

Options:
1 #% Al Gore

> « DBarack Obama

&,

Bill Clinton

L
®

, » Hillary Clinton

Question Number : 75 Question Id : 9735971081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Mandatory or Optional: Mandatory
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Question Number : 76 Question Id : 9735971082 Question Type: TYPING TEST Display Question Number : Yes
Wormen's History Month is an annual declared month that is traditionally held in March, but the study of
woITen's history is valuable all twelve months of the year. Wormen hawve overcome daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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English Typirg Test

Section Id : 973597160

Section Number : 1

Section type: Typing Test
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Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
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Question Shuffling Allowed : No

Question Number : 77 Question Id : 9735971083 Question Type: TYPING TEST Display Question Number : Yes

Everyone mind wanders but Mindfulness is paying attention to what is happening in the present morment. 50 if
you are aware that yvour mind is wandering then vou are halfway to a successful mindfulness practice. The
other half of mindfulness is gently returning your attention back to the here and now. But this does not mean
you have to yank your misbehaving mind back to reality. Instead, think of it a5 a compassionate return to
consciousness. Picture a feather on the ground is lifted up by a gust of wind and then floating back dow to
rest on the pavernent. Wandering, awareness and return requires practicing a rminute of mindfulness no
matter where you are. The easiest tool for achieving that gentle return to the present moment is always
available to you. Focus on one single physical sensation. It could be feeling your back against the chair, your
hand holding the fork or your finger on the touch screen. The key is to aim all of your awareness directly at
one physical sensation of your choice. Pick one part of your body that is in contact with an object. Say it is
vour feet on the floor, Pour all of your awareness right down into the soles of your feet, Observe the sensation
of your feet resting on the floor lightly, MNow wiggle vour toes a bit and notice how the sensation changes. If
you are wearing socks then try to feel the fabric against your feet. This is about noticing, rather than making a
relative comparison to anything that you are not experiencing right now. All we are focusing on is the feeling
and it took only a rminute. [ know this mught all seern ridiculously simple as it 15, [t 15 the mind that complicates
things when it takes us out of the here and now. 50 making the choice to pay attention to how you are feeling
in the moment is a crucial step to actually being in the moment which will increase productivity and focus. It
will also make you happier. In a study published in the journal Science by Harvard researchers found that
people spend nearly half their waking hours thinking about something other than what they are doing at that
mornent. This distraction from the task at hand typically makes them unhappy. When we are fully present we
are better Corrmunicators. We are less reactive and more responsive to the people around us at horne and at
works. We are also more fully here for ourselves since we are in better touch with how we feel and what we
need. We begin to feel more in control in a world where so rmuch is out of our control.
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